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TNPSC GROUP I PRELIMINARY EXAMINATION - 03.03.2019
APTITUDE & MENTAL ABILITY SOLUTIONS

1. In a right triangular ground, the sides adjacent to the right angle are 50 m
and 80 m. Find the cost of cementing the ground at Rs.5/sq.m

A. Rs.20,000 B. Rs.15,000 C. Rs.10,000 D. Rs.12,000

Qb alenemuIm(BHHHL_60 OlgmIGasemot (Pp&BBITemrLD DY) o _6iTeNgl.
ComBaTeanisHmeHsd HThIGD USFSRIS6T 50 15, 805 HLedev HOwew UF FHIT
BLLBSG h 5 alsld G CTshsd CFeveneld SHTeul.

A. 320,000 B. ¥15,000 C.¥ 10,000 D.¥ 12,500

Solution

For finding the cost of cementing, we need to find the area 80m

and then multiply it by the rate for cementing.

Area of right triangular ground = % xb Xh :IW

where b and h are adjacent sides of the right anlges.

- lix (50 m x 80 m)

= 2000 m?
cost of cementing one sq.m = 35
.~. cost of cementing 2000 sq.m = %5 x 2000
= 10000

2. The average of 5 numbers is 180. If one of the numbers is removed then the
average becomes 155. Find the removed number?
A. 240 B. 280 C. 320 D. 360
5 etemideiled gymafl 180 SeuBmled e(H elewIens®l  [HbdHlemey FImFM 155  erenr
LOTBISIBH 6160160 [HHBLILIL L 6T60T6N6MIEH  BHITEWISH.
A. 240 B. 280 C. 320 D. 360
Explanation:
Sum of 5 Numbers = 180x5=900
Sum of 4 Numbers = 155x4 =620
Removed Number = 900 - 620 = 280

3. IfLCM of “a” and “b” is a and LCM of “b” and “¢” is b, then what is the LCM
Of Yes II and Vs II
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A.a B.b C.c D. abc

a wBmIb b e 18.6uT. LB a4 eeed b wBmId ¢ & B.0ur. WLBIG b eeeb
BHHHTEL € LOBBID a6 15.CILIT.LD  6TevT60T?

A.a B.b C.c D. abc

Explanation:

Let, a=10 b=5 c=1

LCM (a,b) = a - LCM (10, 5) =

LCM (b,c) = b -~ LCM (5,1) =
LCM (c,a) = ? - LCM (1,10) =
~ LCM (c,a) = a

4. Which one is correct?

A. —§<_—13<_—15<_—1<1 B. —§<_—1<_13 15 _1

—<—<=
5 40 80 20 2 5 20 40 80 2
15 -13 -1 3 1 1 3 -1 -13 -15
—<—<—<—<= D Z<—<—2<—<—
80 40 20 5 2 2 5 20 40 80

SIpBHeILaUBBle0 o1& Fflwmergl?

3 -13 -15 -1 1 3 -1 -13 -15 1
A —S<——<c—"<c—<= B - - - W
5 40 80 20 2 5 20 40 80 2
5 -13 -1 -3 1 1 3 -1 -13 -15
B St Sl Sl D2 8
80 40 20 5 2 2 5 20 40 80
Explanation:
316_ 48 132 % 15 1.4 4 140 4
5 16 80 40 2 80 80 20 4 80 2 40 80

48 <—-26<-15<-4<40

Ans: A. —§<_—13<_—15<_—1<1
5 40 80 20 2

5. Calculate the compound interest on Rs.9,000 in 2 years when the rate of
interest for successive years are 10% and 12% respectively
A.Rs.1,188 B. 2,088 C.439% D.259%
P OFTMBHGH DBSHBHS ABsEhsSH (WeopBuw 10% wmmd 12% e
aipsHe 9,000 @& 2 MBBEHHG OHTLT QI lg 6l6laleTe]?
A.¥1,188 B. ¥ 2,088 C.¥ 4,396 D. ¥ 2,596
Explanation:

C.l1 =| 9000 Q 112 —9000 = 11088 —-9000 = 2088
100 100

6. A certain sum of money in simple interest scheme amounts to Rs.8,880 in 6
years and Rs.7,920 in 4 years respectively. Find the principal and rate percent
A. Principal = 6,000, rate = 8%
B. Principal = 6,600, rate = 8%
C. Principal = 6,000, rate = 7%
D. Principal = 6,600, rate = 7%
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@M GUEUILL oFreaid 1 allly aidsHdled 6 SiaibhHelsd 8@880 oimabd 4
LW BHeMNe0 78920 SEHD THISHMBSHI  6Tdl60 SHIF6L  OBMID

HITE00TD.

A. oFe0 =6,000 o' lg aimd = 8%
B. o160 =6,000 au'lg aisd = 8%
C. o560 =6,000 eut g aipid =7%
D. si560 =6,000 au'g aisd =7%

Explanation:
Solution:

Amount at the end of 6 years

Amount at the end of 4 years

Interest at the end of 2 years

Interest at the end of 1st year

Interest at the end of 4 years =

P+1, =
P+1920 =
P —
P —

Principal =

r:

= Principal + interest for 6 years
= P+, = 8880

= Principal + Interest for 4 years
= P+ 1= 7920

= 8880 —7920

= 960

= 960

— 960
2

= 480
480 x 4

1,920
7920
7920
7920 — 1920
6,000

6,000

1007
pn

100 x 1920
6000 x 4

& %

ALY AHHMHH

A fair die is rolled. Find the probability of getting a prime factor of 6

A2 B.1
3 3
QU FIT  LISmL

HL5H HHDHH6| WTHl?

c. 2
6
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A2 B: c.2 D.
3 3 6 2
Explanation:

Total No.of Events = 6
getting a prime factor = 2, 3
2
6

Required Probability =

Wl

8. Find the median of the data
12,14, 25, 23,18, 17, 24, 20

A.23 B. 18 C.17 D. 19

12,14, 25,23,18,17,24, 20 aeiB aleuymiseien @enl [Hlene0enll SHiTewIsH.
A.23 B. 18 C.17 D. 19

Explanation:

12,14,17,18, 20, 23, 24, 25

Median = 2520 _, 3—28 =19

9. In a two digit number, the digit in the unit place is twice of the digit in the
tenth place. If the digits are reversed, the new number is 27 more than the
given number. find the number
A. 63 B. 36 C.93 D. 39
QT FMevdhd  clewieniled, @@IMTD G Bevdhd 66w, USHITD B G6evHD
oTewTenemTIBLITEL E)(H DL RISTH 2 66N DeuHEHmIG6T G 1D TBlEITed &Hlenl @D
L& eTewl OBTHSHSLILIL L eTanienemiall. 27 SDIFHFD eleled GaThHHSIUL L  Fllevds
GTEUTENGITE 6wl (HLNQ & b.

A. 63 B. 36 C.93 D. 39
Explanation:

Number by x

x=units digit y=tens digit
x=2y

digits reversed: yx

Xy = yx +27

10x+y=10y+x+27

20y +y =10y+2y+27

9y=27 = y=3

x=2y=6

number:36

or
Unit place = 2 xTens place

Solve from option easier.

Possible Number = 36

Old Number = 36 New Number =63 [36+27]
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10.

11.

12.

The population of a village is 32,000. 40% of them are men. 25% of them are
women and the rest are children. Find the number of men and children

A. 12200 men, 11800 children B. 12800 men, 11200 children

C. 12220 men, 1220 children D. 12200 men, 11200 children

QM TS hBeT OFHTend 32,000 2 senent. Sauiseaied 40%  Syeismer,
25% Guewidel, FHD o 6TCMTT (GHLHDBHHEN. EWIH6T OBBID  GLOHDSHH6 60T
616U 6001 SN BEMUID  SHITEU0T .

A. 12200 syemimeit, 11800 @wobensser

B. 12800 eyewiser, 11200 @iobendsert

C. 12220 syewimerr, 12200 @wobensser

D. 12200 syemizeir, 11200 @ wopensamer

Explanation:

No.of Men=32000 x 40 _ 1,28,000
100

No.of Children=32000 x 1?6—50 =11,200

Using clay, a student made a right circular cone of height 48 cm and base
radius 12 cm. another student reshapes it in the form of sphere. Find the
radius of the sphere.

A.12 cm B.15 cm C.9cm D.14 cm

SHeNDewTeneIll LWILBGSHS (h mewiaue 48 G&.15 o wgupd 12 0F.15 Suypd
Oamewi. GBT aU L SHewilod dmlbedUF QFUISTT. DiSdnlDenLl LOBOMT(H  LOTEHTEUT
QM Hewiods Gsmenons  wr@BplenTT.  SjeleuTm  wMBBLULL yHlw  Csmend e
AT HMSHD BT,

A.12cm B.15 cm C.9Cm D.14 Cm
Explanation:
Given that radius of the cone, r =12 cm
and height of the cone h =48 cm
We wish to find the radius, R of the sphere
Now Volume of the sphere = Volume of the cone
%ﬂR3 = 17zr2h
R® = 1r2h = l><12><12><48
4 4
R® = 12x12x12
SR =12cm

The radius of a spherical balloon increases from 3 cm to 9 cm as air is being
pumped into it. Find the ratio of volumes of the balloon in the two cases.
A.1:3 B.1:9 C.1:27 D.1:8

3 Q.8 supb Osmewi Camem eaugen LTeled STHBHMI OFISHSILIGL Curg Dige
o 9 68 o5, oAHSMAHHT0, el  Henevdelled  Leumeler &6
SloneFeillell S HHMBH HT6wIH.
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13.

14.

15.

16.

A.1:3 B.1:9 C.1:27 D.1:8

Explanation:
gﬂ(3)3:%z(9)3 = 3x3x3 : 9x9x9 = 1:27

If the circle with diameter 4 cm is inside of the circle with radius 10 cm. Then

the Maximum possible distance between the centres is

A.6 B.7 C.8 d. 9

4 Q&8 allLHmsd Oamemwi el 10 OF15 SIWenLw 6IlLSHiel o elten
Gurgl BmH mLWmISEHHG LB BHEe BUIID DIHSULF HMJLD 61616017
A.6 B.7 C.8 D.9

Explanation:

R=10cm r=2cm

Distance between the centres =R -r=10-2=8 cm

A person crosses 600 m long street in 5 minute. What is his speed in km per

hour

A.3.6 B.7.2 C.84 D. 10

@ BUT 600 WBLLT Her(peTen @ OgHmeneal 5 [HIOLMSeed &L HHMTT 6l6wTe0
saufer GoaussHmad H.5 / wenlluled gnml.

A.3.6 B.7.2 C.84 D. 10

Explanation:

gD _600m_ , 18 _ 36

= = 2x—=—=7.2Kkmph
T 300s 5 5

A man travelled 1—21 of his journey by coach, % by rail and walked the

remaining 1 km. How far did he go?

A. 22 km B. 20 km C.33 km D. 27 km

QHAUT  Heldhl LwewT  HMTHH6e0 Ummsd GCH1dFa  euswiguieud UMImS  Fuled
aueutiguigId g (peiten 1 SGeombl L 6wy BLBSID SHLSBMBIT 6lelled LiulewT SHIFLD
61601601 7

A.22 A B.20 &8 C.33 &l D. 27 &l

Explanation:

2 17 4+17 21

11 22 22 22
Remaining Distance 22-21 = 1unit = 1Tkm

Total Distance Travelled = 22 x1=22 km

A ramp for unloading a moving truck has an angle of elevation of 30°. If the
top of the ramp is 0.9 m above the ground level then find the length of the

ramp
A.2m B.1.5m C.1.8m D.1.6m
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17.

18.
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Q@ gimw oaTHulmhbal Smwaw BpBss gaeuns 30° gbips CamamshHed @b
gnuieyd SHeb o eienigl. FTuley HendhdHer o & sHmyuledmbs 0.9 B o wgshdled
o GGl 6163160, FTUIGYSHHNMSHHT HeTD Wdhl?

A.2 15 B.1.5 18 C.1.8 18 D.1.6 18

Explanation:

Solution: Let AC be the ramp.
Given that £ CAB=3(°and BC=0.9m. To ﬁndAC

) . . opp.side
7In the right AABC, sm 30° = __——Hypotenusc
1 - _E . in300_.; l
2~ ac Fsm3=31]
1 09m
2 AC
AC=09mx2 - (on cross multiplication)

i.e., The length of the ramp is = 1.8m

X’ =25 (x+5)°

Simplify: 3 T 7o
A (x=5)(x+3) B. (x—=5)(x-3)
T (x+3) (x+5)
C. (x+5)(x-3) D. (X+5)(x+3)
(x+3) (x=5)
Explanation:
(x+5)(x—5)x(x+3)(x—3):>(x—5)(x—3)
X+3 (x+5)(x+5) X+5
2 [(1,2)5
Simplify __{(ZTsj 6}
, 168 B. 1 c.® D. 10
125 160 168 125
O*O% 771473) 76
A B. 2> c. 2 D. 22
125 160 168 125
Explanation:
1 3 3
4 28

) 2 (3 5) 2 (9-20) 2 ( 11) 2 11 48+77 125
Required: =-| =—= N e N N R _ <2
7 24 7 24 168 168




19.

20.

21.

22.

Find the greatest number of four digits exactly divisible by 15, 21 and 27

A. 9999 B. 9450 C. 9845 D. 8505

15, 21 uwB@pb 27 W PpSIm  eTanisenTed  WHulel eu@GuBL  WslGumw
BTel& Bevhbd BUIed 6lewl 61517

A. 9999 B. 9450 C. 9845 D. 8505

Explanation:

Largest 4 digit Number = 9999

LCM of(15, 21 and 27) =945

9999 divisible by 945 get the remainder 549.

Required Number = 9999 - 549 = 9450

The GCD and LCM of two polynomials are x + 1 and x* - 1 respectively. If
one of the polynomials is x? + 1, find other one.

A.x3-1 B.(x+1)(x%1) C.x2+x-1 D.x2-x+1

B ueIBIILE CasTemeuseier 15.0UT.6u. WBE@ID WB.0umw weompGuw x + 1 wBmid
x4 -1, Guauid @ LeOXIILECHTme X2+ 1 61afled, OBOBTETENNB SHT6EMIH.
A.x3-1 B. (x+1) (x2-1)  C.x2+x-1 D.x2-x+1

Explanation:

LCMxHCE 4 (X2 +l)(x2 —l)x(x+1)

Other Number = — ;
Given Number X" +1

:>(x2 —1)><(x+1)

Find the Highest common Factor of 4p°g’r,8p’q’r?,16p°q‘r’

A. 4p*q'r® B. 4p°q’r C. 16p°q°r D. 16p’q'r’
BLEL®m uTglaEGSs stawis. 4 p?pir, Ip3p2r?, 16p2gird

A. 4p2q4r3 B. 4p2q°r C. 16p2g?r D. 16p2gr3
Explanation:

HCF(4, 8,16) =4
HCEF of p?qg®r, p’g°r?, p’q*r®= p’q°r
Required HCF=4p’q’r

What is the half of the area of the triangle whose vertices are (1,1) (3,1), (1,3)?
h (paC8amemsder (pemerser (1,1), (3,1), (1,3) eeied oipe LpliLenaled LTS
BTG .

A.1 B.2 C.4 D.5
Explanation:

1

E[Xl(yz_)%) + Xz(ys_)ﬁ)"‘xa(yl_yz)]
l[1(1—3)+3(3—1)+1(1—1)]

i Half of Area =1 sq.unit
E[_2+6+0]

%><4 = 2sg.unit
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23.

24.

A silver wire when bent in the form of a square encloses an area of 484 sqm.
If the same wire is bent in the form of a circle, then find the diameter of the

circle (use == ?)

A.14m B.28 m C.24m D.7m

@ GeusTalld S eumaTSESLILL G FEHTWTS LMBBID Curgl. DISHITEL SiewL LB
ugHuler uglny 484 15 918s Geuslellds sbllenwl Ul LTS UmeNSHELILIGH MBS
aTefled Ul L SHHlent el L 1D eleiten? ( 6T60IchO\SHT6ITH)

A.14 18 B.28 15 C.24 1§ D.7 8
Explanation:
a? =484 ~a=22

Perimeter of square = Circumference of a circle
4xa = 2nr

4x22= 2x§xr

r = 14m
Diametre =28 m

In how much time will a sum of Rs.1600 amount to Rs.1852.20 at 5% per
annum compound interest

A. 2 years B. 3 years C. 4 years D. 5 years

1600 syeim 5% ewi® gl B Ul ly aiplD OBTEHIH IHHMAT YeRIBHeM0 T
1852.20 sya1b?

A. 2 syemi(bamein B
C. 4 sewipamer D.

Solution

Given: P =% 1600, A =% 1852.20, r = 5% per annum, #n = ?

Ta I 7 / == P A
We know, A P(1 + 700 )
» " 5 \»
352.20 = 1600(1 + ———
1783_._70 00(1 + 1()())
1852.20 105 v
1600 = (100)
185220 2 v
160000 = (5¢)
9261 — (3_1)"
8000 20
21y = (2LY
(5] ~ a0)
. n = 3years
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25.

26.

27.

28.

The standard deviation of 10 values is 3. If each value in increase by 4. Find
the variance of the new set of value

A. 30 B.12 C.9 D. \3

10 wgliyseflen S L alevdsd 3. @albeumm WHUILL@ID 4-:35 Sl L SO HGLD

yHw FHL alevdbsdhHlear alevdss alTfds Fymafl wmg?

A.30 B. 12 C.9 D.D. 3

Explanation:

In S.D. same number added, S.D. result does not change. New o =3
Variance = ¢° =3 =9

Find the next term of this sequence 11, 13, 17, 19, 23

A.25 B. 27 C.29 D. 31

11, 13, 17, 19, 23, g GOFHTLT euflenguled SIBSHSHI 6U(HLD
2 M e1g?

A.25 B. 27 C.29 D. 31

Explanation:

First Method: Prime Number Series: 11, 13, 17, 19, 23, 29.
Second Method: 11+2=13, 13+4=17, 17+2=19, 19+4=23, 23+2=25

Find the mean of 2, 4, 6, 8,10, 12, 14, 16

A.10 B.9 €. 52 D.14
gL (bF gyngm smewied. 2, 4, 6, 8, 10, 12, 14, 16
A. 10 B.9 C. 12 D. 14
Explanation:

_ 2+4+6+8+10+12+14+16 72
Mean = 5 =§=9

The exterior angles of a pentagon are in the ratio 6 : 3 : 4 : 3 : 2. Find all its

interior angles.

A. 60°,120°, 80°, 160°, 120° B. 80°, 110°, 150°, 120°, 80°

C. 100°, 170°, 160°, 40°, 70° D. 60°,120°,100°, 120°, 140°

m mmBsTamisHar CeualdBamemmidser 6 : 3 : 4 : 3 : 2 6B al&SHHHeo

® oiTeiedl 6163160 DIHGI 2 I CHTemimIBaT6 DI6Ma|Henend SHTewiH.

A. 60°,120°, 80°, 160°, 120° B. 80°, 110°, 150°, 120°, 80°

C. 100°, 170°, 160°, 40°, 70° D. 60°, 120°, 100°, 120°, 140°

Explanation:

Exterior Angle of a pentagon = 360°

N 360° _ 360°
6+3+4+3+2 18

=~ 120°, 60°, 80°, 60°, 40°

Interior Angle = 180° - Exterior Angle

= 60°,120°,100°, 120°, 140°

=20°
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29.  Which one of the following cannot be the sides of a triangle?

A.4,5,6 B.3,4,5 c.2,3,4 D.1,2,3
Leiau(heueTaIBmIeT 6lenel (LPHCHTESHH 0 LSIRIBNTS B(HHS (QuiTgl?
A.4, 5 6 B.3, 4, 4 C.2, 3, 4 D.1, 2, 3
Explanation:

Largest side < Sum of other two sides
In above rule, Option D is not satisfied. 3 = 3

30. Without using logarithm table find approximate value for log,, 2

A.0.2401 B.0.3 C. 0.2802 D. 1414
DL &HMS DI L euenentenlll LWSLBGSHSTe0 -1 CHIgmul gL SHTeis.
A. 0.2401 B.0.3 C. 0.3802 D. 1414
Explanation:

Log Base 10 of... | Is equal to...

1 0

2 0.301

3 0477

4 0.602

5 0.698

6 0.778

7 0.845

8 0.903

S 0.954

10 1

31. Pocket money received by 7 students is given below.
< 42,3 22,340,326, 23,3 28,343
Find the median.

A.X 26 B.X 23 C.T 28 D.X 22

gD LoTeTeUTHel HeF GCFevalBaTs eummisul Lol &S6p OsThaalILL (heTengl.
342,322,340,%26,% 23,3 28,343

BouBnllesT EenL HlenevIeTenaId BHTeu0TH.

A.X 26 B.X 23 C.X 28 D.X 22
Explanation:
22,23, 26,28,40,42,43 Median = 28
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32. The Range of the first 10 prime numbers is

A. 28 B. 26 C.29 D. 27
WPHev 10 UST elewiHeNMesT aiF.

A. 28 B. 26 C.29 D. 27
Explanation:

2,3,5,7,11,13,17,19, 23, 29
Range=L-5=29-2=27

33. The students of a class donated I 4624 for Chief Minister’s State Relief Fund.
Each student donated as many rupees as the number of students in the class.
Find the number of students in the class.

A. 64 B. 68 C.62 D. 78

QM G0 2 66T LOTEWICUTHET (. 4624-mUl  (LPHEVMIDFST6OT LOTHIGV [HlGUT 60T
BHHUTE CFISHH M. @AIGEUT(H LOTERIQIIHD HeTH LMISTE Heldhl UGLILTe0 2 _eitern
LoTeoTeUTH6I6l  eTewTenlbenddh@ FLowTel OFHTendenul OBHTHHHIT 66fled alIGLILT60
® 66N  LOTEMIGUTHGT 618 FHement GuiT?

A. 64 B. 68 C.62 D. 78

Explanation:

No. of Students = x

Each students donated = x Rs.

x X x=4624
x = 44624 = 68

34. Simplify the following:
x3 8
—+—
X—2 2-X
A.x2-2x+4 B.x2+2x+4
C.x2-2x-4 D.x2+2x -4
F(HHGHb.
x3 8
—J’_—
X—2 2-X
A.x2-2x+4 B.x2+2x+4
C.x2-2x-4 D.x2+2x -4
Explanation:
X3 8 x:-2°

X—2 Xx-2 x-2

(x=2)(X* +2x+4)
(x-2)

= x2+2x +4
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35. Simplify mnjrl+ m1+1+ m21—1

2
A m? B. M1 c. L D. "
m m m--1
F(HHGHSb.
m 1 1
+ +
m+1 m+1 m’-1
2 2
A.m? B. M1 c. L D. "
m m m--1
Explanation:
_ m+l 1
= — 4
m+l m’-1
IS T m’-1+1  m’
m-1  m*-1 m*-1
36. If 3a +4b =22, 8a - 5b = -4, then the value of (a+b)2="?
A. 36 B. 72 C.25 D. 49
3a +4b =22,8a - 5b = -4 a&ile0 (atb)? er wHi| wmg?
A. 36 B. 72 C.25 D. 49
Explanation:

Solving Equation a=2, b=4
(@a+b)2 = (2+4)2 = (6)2 = 36

37. If 123 represents “GOD” 456 represents “CAT”, Then “DOG EAT EGG” may

be represented by
A. 321 456 411 B. 321 756 811
C. 321 856 911 D. 321 756 711

123, aaug “GOD” eaauengsup 456 eeig  “CAT”  eeuensdud  GHnlHSHTe0

“DOG EAT EGG” eaiaiiug 61gemmed @&plaaLILL 60miD?

A. 321 456 411 B. 321 756 811 C. 321 856 911 D. 321 756 711
Explanation:

DOG EAT EGG

321 756 711

‘E’ Value Except 1, 2,3,4,5,6 ~E

Ans: D. 321 756 711

7

38. Find the number of 3 digit natural numbers which are divisible by 6

A. 151 B. 150 C.152 D. 14
6-8L60 UGLLS Fnlgul 3 B60dhd BUIeD 6160TH6ITI6  6T61T60N HENHEMUI  BHITCITS.
A. 151 B. 150 C. 152 D. 149
Explanation:

102,108, .......... 996
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o= [I—_a}+1:[996—102}+1
d 6

39. What is the probability that a leap year selected at random will contain 53
Sundays?
Az B. 2 c i D. 2
7 7 7 7
g eumuily (wempuled CaThOHBHeSSILGBLD 651 euBLLD 53 EhTuWIBmIS &HlpenLDaemer
CaTewih QHED HHDHH6| WITH?

A. 2 B. 3 C. 4 D.
7 7 7

~N| o

Explanation:
Now 52 weeks contain 52 Sundays and the remaining two days will be one of
the following seven possibilities.
(Sun, Mon), (Mon, Tue), (Tue, Wed), (Wed, Thur), (Thur, Fri), (Fri, Sat) and
(Sat, Sun).
The probability of getting 53 Sundays in a leap year is same as the probability
of getting a Friday in the above seven possibilities.
Here
S=(Sun,Mon),(Mon, Tue),(Tue,Wed),(Wed, Thur),(Thur,Fri),(Fri,Sat),(Sat,Sun),.
Then n(S) =7.
Let A be the event of getting one Sunday in the remaining two days.

\) 2
pA)= ns) 7

40. Shyam’s monthly income is Rs. 12,000. He saves Rs. 1200. Find the percent of
his savings and his expenditure.

A.10%, 80% B. 10%, 90% C. 80%, 10% D. 90%, 10%

adwimbler 1T&h eurpoTeIDd eh. 12,000. oouT GFHGID OFHTend . 1,200. Sjeuflesr
Gy, CFeve] SpFWBBIET FHAHHMBDH HTUHIH.

A.10%, 80% B. 10%, 90% C. 80%, 10% D. 90%, 10%

Explanation:
Saving = 1200 1o 100
12000
Expenditure = 90%

41. Due to increase of 30% in the price of a colour TV the sale is reduced by 40%.
What will be the percentage change in income?
A.10% increase B. 10% decrease
C. 35% decrease D. 22% decrease
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Qb GYI6U0T 630 OBHTMEVHHTL F] QUL 19uTleir allemeouiled

30% oFHsfssster 40% olBumer GOBHDH eafled  eaumeuTuied  GBUBLD

TBBSDS FHASSBI0 Gl

A.10% oFPafiiy  B.10% @opey C.35% Gome D.22% @empey
Explanation:

_ 30 40. 30x40
100

30-40-12 =-22%

42. Find the least number which when divided by 24, 32 and 36 leaves the
remainders 19, 27 and 31 respectively.
A. 280 B. 290 C. 283 D. 300
Q(H olewienent 24, 32 1oBMID 368160 UGG Curgdl (wemmGw 19, 27 ommib 31
oIILIEN LBFHWITS SN HBHTED Db 6TE0T6EN60T  HIT6I.
A. 280 B. 290 C. 283 D. 300
Explanation:
(24-19),(32-27),(36-31) = 5
Required Number = LCM (24, 32, 36) - 5
288 -5 = 283.

43. The cost of levelling and turfing a square lawn at Rs. 2.50 per m? is Rs.
13322.50. Find the cost of fencing if at Rs. 5 per metre.
A.X 1500 B.X 1380 C.X 1225 D. X 1460
RH FHIT 69l QIUIMED LW DlgSHH FUUGSHS FHT WL L([HEG @h. 2.50 eisld
qh. 1332250 GFeveunadImBal. eleled HIHH WD, GCoued SiMWHE L (HHG (.
5 eislb eeleuene] GFevey SLELD?

A.X 1500 B.X 1380 C.X 1225 D. X 1460
Explanation:
a2= 133225 _ 5359 _ (73
2.5
a= 73

Perimetre 4a = 4x73 = 292
Cost = 292x5 = 1460

44. The diameter of a semicircular grass plot is 70 m. Find the cost of fencing the
plot at X 12 per metre.
A.X 7700 B.X 840 C.X 2160 D.X 4320
Slm] Ul L eaugaleomer Levbeuell et el L 70 M. S1HBGHF FBm GCeusd
DIMLHS @ WL (HHG h. 12 aisld eleien GFevaum@b?

A. . 7700 B. ep. 840 C. . 2160 D. 5. 4320
Explanation:
Circumference = nr + 2r = 37—6 XT

Required cost = {3—76x35} x12 = 36x5x12 = 2160

15 | Page




45. A circus tent is to be erected in the form of a cone surmounted on a cylinder.
The total height of the tent is 49 m diameter of the base is 42 m and height of
the cylinder is 21 m. Find the cost of canvas needed to make the tent, if the
cost of convas is X 12.50/m?2

A. 63552 B. 65352 C.% 63525 D. X 65532

QM  FThHeL LTINS 2 (hewenulel g &by Sevewihd  algailed
SIMHBHIGTNGI. Tl MISHFHeT OoTdhs 2w 49 15 SiHer DiYlisssdHer el LLb
42 16 o mewenll uTaSHHer 2wy 21 15 Gueud 1 &F.15. HHmen GHlewfuller aiemev
(h. 12.50 eleled, &nLMJD SIMLSEH CHemeuwimen SHHHmer Hleoluler alensvenuid

BIT60015b.
A. . 63552 B. em. 65352 C. em. 63525 [).qg. 65532
Solution 1 A
Cylindrical Part Conical Part E =
Diameter, 27 =42m Radius, »=21m b T
Radius, » =21m Height, =49 —21=28m <
Height, 7= 21m Slant height, 7=/’ + r’ l

42m

= 98" 4O

=7v4* 4+ 3 =35m

Total area of the canvas needed = CSA of the cylindrical part + CSA of the conical part
=2xrh+ nrl = r(2h + 1)

=37—3><21(2x31 + 35)= 5082

Therefore, area of the canvas = 5082 m’
Now, the cost of the canvas per sq.m =%12.50

Thus, the total cost of the canvas = 5082 x 12.5 =363525.

46. The average height of 10 students in a class was calculated as 150 cm. On
verification it was found that one reading was wrongly recorded as 130 cm
instead of 140 cm. Find the correct mean height.

A.150 cm B. 152 cm C.153 cm D. 151 cm

RH  uGLled o eiten 10  wrewiauTHellesr  Fgmef o _wpld 150 QF.15  eTedh
SISHL UL G Fiumid@d Burg 140 Q.15 eaumd 130 QF.15 o6l HoUBTH
dBHBIG CameTeniul L HTe Oefweubsal. Fflwrer Fgrafl o wigb STens.

A.150 G@&.8 B.152 Q5.8 C.153 Qg8 D. 151 Q5.8
Explanation:

Difference = 140 - 130 = 10

Average Increased = % =1

New Average = 150 +1 =151 cm
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47. What is Mean of all two digit Numbers?

A.54.5 B. 49.5 C.45.5 D. 44.5
Slmaihd Fllevds eewiseller Fyrall erere?
A.545 B. 49.5 C.455 D. 44.5
Explanation:

Sum = 10+11+12+ ...... +99

= (1+2+3+........ +99)-(1+2+...... +9)

_ 99x100 9x10

2 2
= 4950 - 45 = 4905

Required Average = % = 545

48. If ax? - 28x + 49 = 0 has equal roots. Then the value of a is

A.l B.2 C.3 D.4
ax2-28x +49 =0 6B FLOGIITL 96T (LP6UMIGBET FIOID 616dN60 A 60T DL
A.l B.2 C.3 D. 4
Explanation:
b2-4ac = 0
b2 = 4ac
b2
4
_ b _ 2828 _,
4c 4x49

49. I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured cubes in it.
a. What is the ratio of orange to yellow cubes?
b. What is the ratio of green to blue cubes?
c. How many different ratios can be formed, when you compare each colour
to any one of the other colours?
@ (b (9
A. 3:1 1:2 10ratios
B. 1:3 21 4ratios
C. 1:2  3:1 12ratios
D. 2.1 1:3 12ratios
oTevTeL_(1Lpeitenl  g(h G 1guiled 3 uFemg, 9 Heod, 4 EhTFeT, 8 TehdF eler 24
GUGITENTE HENF FHITHIBET 2 _6iT6IT6. 61601160
a. SJEhd LBEID EhF6IT HeIFFImIG6T6T al&FHLD 616516017
b. uFmF WBEID BevlD BETFFHITBIB6T6ET BB 6T65T60?
C. @ ocUMIISHmS BB  cuewlenBECaTh QULILG  dHHmeT  alld HhIS6IT
SITET6VMLD?
@ ® ©
A. 3:1 1:2 10ratios
B. 1:3 21 4ratios
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C. 1.2 3:1 12ratios
D. 221 1:3 12ratios

Explanation:
(a)Orange : Yellow
8 : 4
2 1
(b) Green : Blue
3 9
1 : 3

(c) Required No. of Ratios=3+3+3+3 = 12
(Each colour compare with Remaining three)

50. A troop has provisions for 276 soldiers for 20 days. How many soldiers leave
the troop so that the provisions may last for 46 days.
A. 136 B. 156 C. 146 D. 164
276 eijidel 2 6o @(h LLLTNGHH60 20 BILHEHHGHSH CHeeuwITer FemLouled
QUT(HETHET 2 6N, DS CUT[HETHET 46 BT HEHHE Hlodhsd GCeuemihoLoslen
THHMI aIITH6T SHSHLILLLTeNHmS all BF GFevev Galewi(BLd?
A. 136 B. 156 C. 146 D. 164
Explanation:

276x20

= 120
No. of soldiers left = 276 - 120 =156

No. of soldier =
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